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Background
In RAN1 #93, the following agreements were reached:
Agreement:
· For sub7 GHz outdoor scenario, adopting the following
· Macro deployment with ISD=200×A meters
· Each operator randomly drops 1 micro-layer TRP within each macro cell sector with minimum distance between micro-layer TRPs equals 57.9×A meters
· Independent dropping between two operators
· Use 10 meters as the inter-operator micro-layer TRP minimum distance
· For the inter-operator micro-layer TRP maximum distance
· Outdoor scenario 1: 30
· Outdoor scenario 2: No limit as long as the TRP is within the macro cell
· UE randomly dropped within macro cell sector with a minimum serving cell RSSI of -82dBm
· All UEs dropped outdoor
· Try A>=1 and find the A that satisfies serving cell received power distribution satisfies (10+X)% to (15+X)%] UEs below -72dBm
· Other parameters follow the table below

	Parameters
	Outdoor Sub-7GHz

	Carrier Frequency
	5GHz

	Carrier Channel Bandwidth
	20MHz baseline , 80MHz optional

	Number of carriers
	1

	Number of users per operator
	5 per gNB per 20MHz

	SCS
	To be reported together simulation results

	Channel Model
	NR UMi street canyon

	BS/AP Tx Power
	23dBm (total across all TX antennas)

	UE/STA Tx Power
	18dBm (total across all TX antennas)

	BS/AP Antenna gain
	0 dBi   

	UE/STA Antenna gain
	0 dBi

	BS/AP Noise Figure
	5dB

	UE/STA Receiver Noise Figure
	9dB

	Minimum received power from serving cell for UE dropping
	-82dBm

	UE receiver
	MMSE-IRC as the baseline receiver

	BS/AP antenna Array configuration
	(M, N, P, Mg, Ng)  = (1, 2, 2, 1, 1), dH = dV = 0.5 λ

	UE/STA antenna Array configuration
	Baseline Tx/Rx: (M, N, P, Mg, Ng) = (1, 1, 2, 1, 1), dH = dV = 0.5 λ
Optional Tx/Rx: (M, N, P, Mg, Ng) = (1, 2, 2, 1, 1), dH = dV = 0.5 λ

	Traffic model
	Use 36.889 Table A.1.1. 
Note: Results based on the mixed traffic models can be used to determine the design.

	UE/STA to UE/STA link pathloss model
	Directly use UMi street canyon pathloss model with proper d_3D with UMi street canyon LOS probability

	gNB to gNB link pathloss model
	Directly use UMi street canyon pathloss model with proper d_3D with UMi street canyon LOS probability



An email discussion was assigned to further fine tune the parameters (A and X) on the layout of the simulation, targeting Augest 2nd for a decision. The email discussion was organized into two steps:
· Step 1: Generating the necessary cdfs
· Target a deadline of 6/15/18
· Companies to provide serving cell received power cdf for a sweep of A parameters for each sub-scenario
· We will send out a word document and excel sheet in a few days like what we did for the indoor calibration.
· Step 2: Further discussion on agreeing on the X value and selecting an A parameter
· Target an agreement on 8/2/18

This paper summarizes the email discussion. 
Step 1 calibration
Following the agreed parameters as below, we sweep A=1, 1.2, 1.4, 1.6, 1.8, and 2. In these simulations, UE redropping with -82dBm is applied as well.
· Macro deployment with ISD=200×A meters
· Each operator randomly drops 1 micro-layer TRP within each macro cell sector with minimum distance between micro-layer TRPs equals 57.9×A meters
· Independent dropping between two operators
· Use 10 meters as the inter-operator micro-layer TRP minimum distance
· For the inter-operator micro-layer TRP maximum distance
· Outdoor scenario 1: 30
· Outdoor scenario 2: No limit as long as the TRP is within the macro cell
· UE randomly dropped within macro cell sector with a minimum serving cell RSSI of -82dBm
· All UEs dropped outdoor

12 companies provided calibration results for serving cell RSSI distribution for scenario 1 and scenario 2. The following figures show the cdf of UE received signal power from serving cell for scenario 1 and scenario 2. Note that for the UE serving cell received power cdf, the difference between scenario 1 and scenario 2 is not obvious. 
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Figure 1. UE serving cell received power cdf, A=1, Scenario 1
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Figure 2. UE serving cell received power cdf, A=1.2, Scenario 1
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Figure 3. UE serving cell received power cdf, A=1.4, Scenario 1
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Figure 4. UE serving cell received power cdf, A=1.6, Scenario 1
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Figure 5. UE serving cell received power cdf, A=1.8, Scenario 1
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Figure 6. UE serving cell received power cdf, A=2, Scenario 1
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Figure 7. UE serving cell received power cdf, A=1, Scenario 2
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Figure 8. UE serving cell received power cdf, A=1.2, Scenario 2
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Figure 9. UE serving cell received power cdf, A=1.4, Scenario 2
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Figure 10. UE serving cell received power cdf, A=1.6, Scenario 2
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Figure 11. UE serving cell received power cdf, A=1.8, Scenario 2
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Figure 12. UE serving cell received power cdf, A=2, Scenario 2

The percentile at -72dBm for each layout options are summarized in the next table.
Table 1. Percentile of -72dBm point for UE serving cell received power for scenario 1
	
	A=1.0
	A=1.2
	A=1.4
	A=1.6
	A=1.8
	A=2.0
	A=3.0

	Qualcomm
	5.4%
	12.7%
	19.2%
	25.6%
	30.2%
	34.8%
	

	Intel
	3.4%
	[bookmark: _GoBack]10.8%
	17.2%
	25.7%
	30.3%
	37.0%
	47.9%

	LG
	5.8%
	12.6%
	20.3%
	27.5%
	33.3%
	37.7%
	

	InterDigital 
	4.4%
	9.4%
	18%
	24.5%
	32.7%
	35.9%
	

	Ericsson
	3.3%
	9.5%
	16.9%
	24.7%
	32%
	36.3%
	

	MediaTek
	4.2%
	12.0%
	17.2%
	24.7%
	31.7%
	36.5%
	

	ZTE
	4.2%
	10.3%
	17.8%
	26.6%
	32.5%
	36.3%
	

	Samsung
	5.8%
	12.5%
	19.1%
	25.4%
	31.1%
	36.8%
	

	Nokia
	7.0%
	14.8%
	21.2%
	27.9
	33.2%
	38.2%
	

	Broadcom
	8.1%
	13.5%
	17.9%
	22.3%
	27.4%
	30.8%
	

	vivo
	3.6%
	9.1%
	17.8%
	24.2%
	36.1%
	39.1%
	

	Huawei
	7.4%
	14.3%
	21.9%
	28.4%
	33.4%
	37.8%
	

	Average
	5.16%
	11.81%
	18.48%
	25.49%
	31.44%
	36.03%
	



Table 2. Percentile of -72dBm point for UE serving cell received power for scenario 2
	
	A=1.0
	A=1.2
	A=1.4
	A=1.6
	A=1.8
	A=2.0
	A=3.0

	Qualcomm
	6.1%
	13.1%
	18.9%
	24.3%
	28.6%
	36.2%
	

	Intel
	4.4%
	9.4%
	17.4%
	25.4%
	32.1%
	36.7%
	50.8%

	LG
	5.8%
	12.7%
	19.9%
	27.3%
	33.1%
	37.3%
	

	InterDigital 
	3.8%
	9.8%
	18.1%
	24.4%
	32.3%
	35.4%
	

	Ericsson
	3.6%
	9.3%
	16.7%
	24.6%
	32.2%
	36.3%
	

	MediaTek
	2.9%
	9.4%
	18.6%
	25.0%
	30.3%
	39.1%
	

	ZTE
	4.6%
	9.5%
	18.2%
	25.4%
	30.5%
	36.9%
	

	Samsung
	5.7%
	11.8%
	19.1%
	25.3%
	30.9%
	37.7%
	

	Nokia
	7.4%
	14.6%
	21.3
	28.2%
	32.8%
	37.9
	

	Broadcom
	8.4%
	13.1%
	18.5%
	23.2%
	26.5%
	29.5%
	

	vivo
	4.1%
	10.7%
	19.5%
	27.4%
	35.8%
	37.1%
	

	Huawei
	7.2%
	14.6%
	22.5%
	28.5%
	33.5%
	38.8%
	

	Average
	5.27%
	11.27%
	18.67%
	25.31%
	30.93%
	36.30%
	



In each table, the average across  all companies results are also provided in the last row, and plotted in the figure below.

Figure 13. Average % of UE below -72dBm as a function of “A”
Between scenario 1 and scenario 2, due to different ways to drop gNBs between the operators, the max AP2AP received power cdf will be different. This is not an agreed calibration metric and the results are optionslly provided by five companies for reference. The average results across all companies are provided in the last row of the tables as well.
Table 3. Percentile of -72dBm point for Max AP2AP received power for scenario 1
	
	A=1.0
	A=1.2
	A=1.4
	A=1.6
	A=1.8
	A=2.0

	Qualcomm
	0%
	0.1%
	0.1%
	0.4%
	0.6%
	0.8%

	LG
	0%
	0.1%
	0.2%
	0.3%
	0.2%
	0.4%

	InterDigital
	0%
	0.1%
	0%
	0%
	0.5%
	0.2%

	Nokia
	0%
	0.1%
	0.1%
	0.3%
	0.3%
	0.4%

	Broadcom
	0%
	0%
	0%
	0.2%
	0.4%
	0.4%

	ZTE
	0%
	0%
	0.2%
	0.1%
	0.6%
	1%

	Average
	0.00%
	0.07%
	0.10%
	0.22%
	0.43%
	0.53%



Table 4. Percentile of -72dBm point for Max AP2AP received power for scenario 2
	
	A=1.0
	A=1.2
	A=1.4
	A=1.6
	A=1.8
	A=2.0

	Qualcomm
	0.8%
	2.7%
	7.3%
	16.5%
	23%
	32%

	LG
	1.1%
	3.8%
	9.7%
	16.8%
	25.7%
	33.7%

	InterDigital
	0.4%
	1.5%
	5.9%
	13%
	21.3%
	30.5%

	Nokia
	2.5%
	6.3%
	12.7%
	21.8%
	29.6%
	37.2%

	Broadcom
	0.2%
	2%
	6.6%
	13.6%
	21.4%
	29.8%

	ZTE
	2.1%
	6.6%
	12.8%
	21.5%
	29.5%
	36.8%

	Average
	1.18%
	3.82%
	9.17%
	17.20%
	25.08%
	33.33%



Figure 14. Average maximum AP2AP link below -72dBm as a function of “A”

Table 5. Company observations
	Company
	Comments

	Qualcomm
	As expected, with larger A, the UE RSSI will be lower. For both scenarios, with A=1.2, we can achieve below -72dBm within 10~15%, and with A=1.5, we can achieve below -72dBm within 20~25%. Between secnarios, the max AP2AP received power distribution is different. For scenario 1, as the APs are dropped within the hopspot, the max AP2AP is always high, and almost 0% max AP2AP links are below -72dBm. For scenario 2, the max AP2AP is lower.

	Intel
	Both scenario 1 and scenario 2 provide very similar results in terms of the serving link RSRP distribution with negligible differences for each value of A. While A=2.0 achieves about 35-40% of serving link RSRP to be below -72dBm, we have also provided results for A=3.0 in consideration of the measured RSRP value range provided in R1-1807327 for an outdoor Wi-Fi network. The AP2AP RSRP statistics are not provided as they are out of the scope for this email discussion. 

	LG
	For A = 1, it is observed that the percentile of UE’s received power below -72 dBm is smaller than 10% (i.e., about 6%) in both scenarios. As expected, we can observe as the value of A increases, the percentile of UEs below -72 dBm also increases. Especially for A=1.2 and 1.6, it is observed that the percentile of UE’s received power below -72 dBm is about 12% and 27%, respectively.

	InterDigital
	Results for both scenarios are provided which indicate increasing percentage of RSSI<-72dBm with increasing value of A. A value of 1.2<A<1.4 would give the desired percentage of %10-%15.

	Ericsson
	It is observed that the results for both scenarios are quite similar in terms of serving link RSSI for different A values. With larger A value, weak UE RSSI ratio becomes higher as expected: with A=1.3-1.4, RSSI below -72dBm may achieve 10%-15%; with A=1.5-1.6, RSSI below -72dBm may achieve 20%-25%.  The AP2AP RSRP statistics are not provided as they are out of the scope for this email discussion. 

	MediaTek
	First, the distributions of serving cell received power in scenario 1 and scenario 2 are similar for each value of A. Second, with A= 1, the ratio of UEs with serving cell received power below -72dBm is smaller than 10%. Thus, the value of A should be increased. With A = 1.2, it has 10%~15% UEs with serving cell received power below -72dBm. With A = 1.4, it has 15%~20% UEs with serving cell received power below -72dBm. With A = 1.6, it has 20%~25% UEs with serving cell received power below -72dBm. Third, we did not provide the results of AP2AP links since it is out of scope in this email discussion.

	ZTE
	As observed, for both scenarios we can achieve (10+X)% to (15+X)%   of serving link RSRP below -72dBm, when A is greater than 1.2, assuming X is positive. Especially for A=1.4,we can achieve below -72dBm within 15~20%, and for A=2.0, we can achieve below -72dBm within 35~40%. For scenario 1, almost 0% max AP2AP links are below -72dBm as the APs are dropped within the hopspot. For scenario 2, more MAX AP2AP links below -72dBm are observed with higher value of A.

	Samsung
	The serving link received power distribution is very similar for both scenarios with only minor differences. It can be observed that 10% to 15% of serving link received power below -72 dBm can be achieced with A = 1.2 for both scenarios. In addition, more fraction of serving links below -72 dBm will be observed with higher value of A. 

	Nokia
	As also observed by other companies, for gNB-UE serving cell RSSI, there is no significant difference between the scenarios. A=1.2 appear to be a good choise for scaling factor.

	Broadcom
	As expected Scenario1 and Scenario2 have the same serving gNB-UE RSSI cdfs and very different AP2AP RSSI cdfs. In Scenario1, the AP2AP cdf is not correlated to the serving gNB-UE cdf; for example the AP2AP RSSI remains high even when the serving gNB-UE cdf is progressively made lower with increasing values of A. In Scenario2, the AP2AP cdf is correlated to the serving gNB-UE cdf. 

	vivo
	From the simulation results we can see that, when A=1.2, the percentage of UE serving cell received power below -72 dBm is around 10% , and for A=1.4, it is around 18%~19%. Therefore, it can be expected that when 1.2 <A< 1.4 , the percentage of UE serving cell received power below -72 dBm is around 10%~15%.  

	Huawei, Hisilcon
	Both outdoor scenario 1 and scenario 2 had similar CDF from the perspective of serving link RSSI. The percentages of serving links with RSSI below -72dBm are 7.x% and 14.x% when A=1 and 1.2 respectively. 



To summarize, the submitted results form all companies are reasonably close. Between scenario 1 and scenario 2, all companies observe the difference is small for UE serving cell RSSI distribution. As expected, the percentage of UE with serving cell RSSI below -72dBm increases with larger site-to-site distance. According average results from all companies, we need A=1.2 to reach 10%~15% UEs under -72dBm and we need A=1.5 (interpolated from A=1.4 and A=1.6) to reach 20%~25% UEs under -72dBm.

For AP2AP RSSI cdf, five companies provided results. As expected, for scenario 1, close to 0% maximum AP2AP links are below -72dBm as the APs from two operators are dropped close to hot-spot centerl. For scenario 2, the percentage of maximum AP2AP links below -72dBm increases as site-to-site distance increases. 

Observation: UE serving cell RSSI cdf is well calibration across companies. We need A=1.2 to reach 10%~15% UEs under -72dBm and we need A=1.5 to reach 20%~25% UEs under -72dBm.

Step 2 Calibration
For this step of the calibration, we need to agree on the target percentage of UEs with serving cell RSSI below -72dBm to select “A” parameter. Since 10%~15% and 20%~25% are the ranges of interest raised during the last meeting, we recommend to consider A=1.2 (which will achieve 10%~15%) and A=1.5 (which will achieve 20%~25%).

Table 6. Company comments
	Company
	Comments

	Qualcomm
	Since we already agree to simulate 2 scenarios for sub7 outdoor case, it might be good to take advange of that to cover more use cases. From AP2AP RSSI distribution result, with larger A, the scenario 2 may have less AP2AP interference, while scenario 1 will not have different AP2AP interference level. Therefore we recommend to use A=1.2 for scenario 1 and A=1.5 for scenario 2.

	Intel
	Since in this case the selection of one parameter is consequential to the other, in order to select a specific value of A, we should first agree on the specific target for the percentage of links that have RSRP below the ED threshold, and then according to the curves that companies have shared select accordingly the value of A. On the other hand, QC has proposed to agree on different percentage targets, for which we do not see the motivation. In our opinion, a single target value should be chosen and simulations should be performed for both scenarios for the value of A corresponding to that specific percentage target. 
Among the two target value ranges mentioned during the meeting, i.e., 10%-15% and 20%-25%, we do not have a strong preference on one over the other. Thus, if there is a majority preference on one target value range, we are okay to select the value A according to the chosen target value using the calibration RSRP curves that were shared during the first step of this email discussion. 

	Huawei, Hisilcon
	The percentages of serving links with RSSI below -72dBm are 7.x% and 14.x% when A=1 and 1.2 respectively. The 10%~15% percentages are comparable with those agreed in indoor scenario. Based on the two layer mode of dense urban scenario, the NRU node (micro layer) are deployed within the coverage of NR node (marco layer). We did not see strong reason to increase the ISD of macro layer when micro layer use unlicensed band.  If parameter A were too large, we should also investigate whether the two layer mode in Dense urban is valid in Urban Macro scenario at first. Besides, it is observed that the ISD assumption in outdoor large BSS scenario in 802.11ax is only 130m, which is even smaller than 200m in dense urban scenario (A=1).  Therefore, we recommend to use A=1.2 for both scenario 1 and 2.

	Ericsson
	According to the agreement shown above, we should do the following:
· Try A>=1 and find the A that satisfies serving cell received power distribution satisfies (10+X)% to (15+X)%] UEs below -72dBm
Results from multiple companies have found that A = 1.2 achieves the target 10%~15% of UEs with serving links below -72 dBm. Hence, our preference is A = 1.2 and X = 0. We note that not all networks have a large percentage of weak links, therefore we don’t see the rationale of considering even higher percentages, e.g., 20 – 25%.
We note that selection of A and X based on AP2AP interference level is not within scope of the agreement.

	Samsung
	With A= 1.2, the fraction of serving cell received power below -72dBm is 12.5% and 11.8% for scenario 1 and scenario 2 respectively; which can achieve the 10%-15% range of interest. With A = 1.5, the fraction of serving cell received power below -72dBm is 21.9% and 21.6% for scenario 1 and scenario 2 respectively; which can achieve the 20%-25% range of interest. Therefore, A = 1.2 and A = 1.5 can be used for the 10%-15% taget range and 20%-25% target range respectively, for both scenario 1 and scenario 2.

	Broadcom
	1. We agree with A = 1.5 for Scenario2. However, note that the RSSI cdf  with 22%-23% links below -72dBm at A = 1.5 is still higher than those of the large outdoor networks that we have presented in R1-1807327. 
a. In network 1, between 30% - 73% of serving links are below -70dBm with a median of 50% serving links below -70dBm. 
b. In network 2, 60% of serving links are below -72dBm.
2. As stated earlier, we have concerns on the validity of Scenario1 which makes the AP2AP cdf uncorrelated to the AP2UE cdf; for example the AP2AP cdf is always very strong even when the AP2UE cdf is weak. We have not observed any outdoor multi-operator Wi-Fi network where there is no inter-operator coordination for deployment of APs, which shows such an RSSI cdf. Given this, Scenario1 is not agreeable to us.
3. On the comparison with 802.11ax Outdoor Large BSS evaluation methodology, the following points should be noted:
a. RAN1 had earlier decided not to follow the 802.11ax evaluation methodology but rather define a topology themselves, also keeping in consideration the NR topology and that of deployed Wi-Fi networks.
b. Even then, the 802.11ax ICD of 130m cannot be directly compared with the NR-U ISD of 200m. Some of the reasons are as follows: 
i. The hexagonal topology is different between the 802.11ax Outdoor Large BSS scenario and Dense Urban. The ICD in 802.11ax is the distance between 2 hexagon centers while the ISD in Dense Urban is equal to 3 times a hexagon edge. Hence, for the same ICD of 11ax as the ISD of NR, the hexagon edge is 12.5% longer in the 802.11ax topology than in Dense Urban. 
ii. The 802.11ax pathloss is also higher than UMi Street Canyon pathloss resulting in lower RSSI at the same distance; pathloss calculated as LOS_pathloss*P(LOS) + NLOS_pathloss*(1-P(LOS)). 
iii. The AP/UE transmit powers are also 3dB lower, the antenna gains are also different, which will further lower the RSSI at the same distance.

	LG
	According to the results of all companies, we can see that in both scenarios, the percentage of serving cell link below -72 dBm satisfied 10-15% and 20-25% with A = 1.2 and A = 1.5, respectively. From our perspective, it is acceptable to select any A value in each scenario, rather than simulating both A values in each scenario

	MediaTek
	We share a similar view with Intel. The target percentage (10+X}%-(15+X}% for serving link received power should be decided first, the value of A can be then decided based on the agreed target percentage and the calibration results. In the last meeting, only the serving link received power was agreed to be the metric for fine tuning topology. If 10%-15% serving links with max received power below -72dBm are sufficient to reflect the hidden node issue, is it necessary to increase the percentage of AP2AP links with max received power below 72dBm? What is the motivation to use the max AP2AP received power as an additional metric? Therefore, we recommend to select X = 0 with a target percentage {10%-15%} for serving link received power, and A = 1.2 for both scenario 1 and scenario 2 to meet this target.

	ZTE
	We think simulations should be performed to find a common A for both scenarios corresponding to a single target value. With A=1.4, for both scenario 1 and scenario 2, the fraction of serving cell receiced power below -72dBm is within the same range of 15%~20% corresponding to X with a value of 5.  In addition,  A=1.4 corresponds to ISD equals to 280m which is a reasonable distance for macro cell. Therefore we recommend A=1.4 for both scenario 1 and scenario 2.

	Nokia, Nokia Shanghai Bell
	According to our (and other companies) results, it seems that A=1.2 provide a reasonable number of serving cell links below -72dBm already for both Scenario 1 and 2. We also see no need to revert the agreement on having two scenarios evaluated, given that Scenario 1 (hot spot-like) is a rather typical deployment in practice.

	InterDigital
	Based on our simulation results, A=1.2 yields to %10-%15 of serving cell RSSI<-72dBm for both Scenario 1 and 2. We believe it is best to choose one A value for both scenarios, therefore recommend A=1.2 and X=0 (corresponding to %10-%15 of serving cell RSSI<-72dBm) for scenario 1 and 2.

	CableLabs
	We think that capturing hidden nodes are important in both DL and UL directions because there is virtually no difference between them as contenders in the channel access. However, DL and UL  traffic are different in many ways including the following:
· Depending on the proposed channel access schemes COT can be initiated by the DL most of the time (as in LAA),
· Important control signaling are only transmitted in the DL direction by the gNB .
Therefore, it is important to ensure a good performance for both DL and UL in a reasonable amount of hidden nodes. 
For this reason, we think scenario 2 with A=1.5 should be included in the simulation methodology.



To summarize, the step 2 of the email discussion received feedback from 12 companies, and the company positions can be summarized as follows:
· Opt. 1: A=1.2 for both scenario 1 and scenario 2
· Supported by: HW, E///, MTK, Nokia, InterDigital, Intel, LG, ZTE
· Opt. 2: A=1.2 for scenario 1 and A=1.5 for scenario 2
· Supported by: QC, Samsung, LG, Broadcom, CableLabs
· Opt. 3: A=1.5 for both scenario 1 and scenario 2
· Supported by: ZTE, Intel, LG, Broadcom, CableLabs

Since there are still a few options on the table, and cannot be further down-selected in an email discussion, further online discussion is needed.

Proposal: Further discussion needed to decide within the following alternatives for sub7GHz outdoor scenario
· Alt. 1: A=1.2 for both scenario 1 and scenario 2
· Alt. 2: A=1.2 for scenario 1 and A=1.5 for scenario 2
· Alt. 3: A=1.5 for both scenario 1 and scenario 2

Conclusion
12 companies participated in the email discussion on sub7GHz outdoor simulation calibration. The following observation and proposal are the outcome of the email discussion. 

Observation: UE serving cell RSSI cdf is well calibration across companies. We need A=1.2 to reach 10%~15% UEs under -72dBm and we need A=1.5 to reach 20%~25% UEs under -72dBm.

Proposal: Further discussion needed to decide within the following alternatives for sub7GHz outdoor scenario
· Alt. 1: A=1.2 for both scenario 1 and scenario 2
· Alt. 2: A=1.2 for scenario 1 and A=1.5 for scenario 2
· Alt. 3: A=1.5 for both scenario 1 and scenario 2

Average results across all companies
Scenario1	1	1.2	1.4	1.6	1.8	2	5.2166666666666701E-2	0.117916666666667	0.18708333333333299	0.25624999999999998	0.31991666666666702	0.36433333333333301	Scenario2	1	1.2	1.4	1.6	1.8	2	5.3333333333333302E-2	0.115	0.19058333333333299	0.25750000000000001	0.3155	0.36575000000000002	A

% of UEs under -72dBm



Average results across all companies
Scenario1	1	1.2	1.4	1.6	1.8	2	0	8.0000000000000004E-4	8.0000000000000004E-4	2.3999999999999998E-3	4.0000000000000001E-3	4.4000000000000003E-3	Scenario2	1	1.2	1.4	1.6	1.8	2	0.01	3.2599999999999997E-2	8.4400000000000003E-2	0.16339999999999999	0.24199999999999999	0.32640000000000002	A

% of UEs under -72dBm
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